ANSWERS TO BALANCING PRACTICE #2
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2NaNOs3 + Kb:SOs 2 Na,SO4+ 2KNO3
double displacement

3Zn + 2H3:PO, > an(PO4)2 + 3H>
single displacement

CH4+ 20, - CO; + 2H,0
complete combustion

H,CO3; = CO;, + H,O
decomposition

3HNO; + AI(OH)3 = 3H20 + AI(NO3);3
double displacement

2NH4OH + H3SOs = (NH4)2SO4 + 2H20
double displacement

Li.O + H,O - 2LIOH
synthesis (combination)

PCl; + Cl, = PCls
synthesis (combination)

CoHs + 20, 2 2CO + 2H,0
Incomplete combustion

10) NasN + 3HCI = NH; + 3NaCl

double displacement



